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Cluster: 0059 ptr; resid: 0.40; r/c: 39/63

x.range

upstream meme PSSM #1; e=0.26
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47779−0.01
49053−0.01
47805−0.02
49194−0.07
38086−0.08
38966−0.10
39307−0.10
39891−0.14
34245−0.15
50171−0.15
48834−0.16
49716−0.17
24610−0.20
38112−0.20
47872−0.23
49678−0.29
52709−0.31
38917−0.37
40647−0.45
14284−0.76
39311−0.80
48647−0.94
19188−1.46
15264−1.71
14702−1.75
43335−1.84
47738−1.86

2444−1.88
49344−1.89
23489−2.53
39455−2.62
32487−2.63
43804−2.80
47563−2.91
33147−3.70
41555−5.53

2382−5.88
48496−9.00
50210−9.69

log10(P) upstream meme1 2 log10(P.clust)=−1.68; 39 seqs; 39 uniq
c(0.5, 2.5)
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